
 
PRODUCTION SET PRODUCTION FUNCTION
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PROFIT MAXIMIZATION PROBLEM
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THE PROFIT MAXIMIZATION PROBLEM
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When the production set exhibits
constant or increasing returns to
scale i e non decreasing returns to
scale then either profits are
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PROFITS WITH CONSTANT or INCREASING
RETURNS TO SCALE
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OBSERVATION ON PMP
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COST MINIMISATION PROBLEM
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Specifically

II wi 1 0 Zizo Vi

It f z 9 0 dio

a 0 wi 181
take two inputs I K optimality
implies that

MRTSe e ratio between the prices
of the two inputs I K

Slope of the
is quant corresponding to the
Fixed level of production 9



take a convex f concave

the isoquant'is convex
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LAGRANGE MULTIPLIER OF MP
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Put 2 into 1 to get
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ON COST FUNCTIONS

Notice that W 9 is a linear function
of the input dimanda hence whenever
we consider the impact of an

equally proportional change of all

inputs on costs this is always of
the some proportion of the change in
inputs
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By CRS technology the total cost is
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What if the technology has decreasing
returns to scale

then if the firm wants to produce
29 she needs to more than double
the purchase of inputs the total
costs will more than dov
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increasing function

9
9 Gish

9

clw.gs

Clu9 y
91 92

think about an increasing returns to
scale 71


